Chem 634, Fall 2005, PS2 name

1. Outline a synthesis using any achiral materials that contain 6 carbons or less.
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2. Provide a mechanism. Explain why only one diastereomer is expected for the following reaction
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3. Propose stereochemical models to explain the following observations
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4. Provide a mechanistic rationale that explains why the Heck reactions of (Z)- § -methylstyrene and
(E)-p-methylstyrene are stereospecific, and lead to the exclusive formation of 1 and 2, respectively.
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5. Literature assignment is the same as last week

B. Lse Bellstein commandear 1o seanch the following structung:
I



